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AW–284
B.A. Part–I (Semester–I) Examination

(Optional Subjects)
ECONOMICS

(Micro-Economics)
Time : Three Hours] [Maximum Marks : 80

Note :— (1) All questions carry equal marks.

(2) Draw diagrams wherever necessary.

1. State the definition of Economics given by Robbins, and State its characteristics and
criticise it. 16

OR

What is Micro Economics ? Explain its merits and demerits. 16

2. Short answers :—

(a) State the assumption of law of Demand. 4

(b) Explain in short law of Supply. 4

(c) State the kinds of Price Elasticity. 4

(d) State the assumptions of the Law of Diminishing Marginal Utility. 4

OR

(e) Explain the Giffen’s Paradox. 4

(f) Explain the concept of Elasticity of Demand. 4

(g) Explain in short the law of Diminishing Marginal Utility. 4

(h) What are the exceptions to the Law of Demands. 4

3. State the meaning of Revenue and explain the types of Revenue. 16

OR

State the Internal and External Economies of Large scale production. 16

4. Choose the correct options :—

(1) The number of customers and sellers are __________.

(a) One (b) Two

(c) Infinite (d) None of these

(2) In which market seller’s fully control on price ?

(a) Perfect competition (b) Monopoly

(c) Monopolistic competition (d) Duopoly

(3) In which market free entry and free exit possible to the firms ?

(a) Perfect competition (b) Oligopoly

(c) Monopoly (d) None of these
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(4) In perfect competition in the long period all firms gain :

(a) Normal profit (b) Additional profit

(c) Loss (d) None of these

(5) ‘Goods differentiate’ is the characteristics of this market :

(a) Perfect competition (b) Monopoly

(c) Imperfect competition (d) None of these

(6) In the oligopoly the number of firms is :

(a) Less (b) One

(c) Two (d) Infinite

(7) In the monopoly the number of firms is :

(a) One (b) Two

(c) More (d) Few

(8) In which market price discrimination is possible ?

(a) Perfect competition (b) Monopoly

(c) Imperfect competition (d) None of these 16

5. Write short answer :—

(a) State the characteristics of labour. 4

(b) State the assumptions of Recardian Theory of Rent. 4

(c) State the difference between money wages and real wages. 4

(d) State the characteristics of Land. 4

OR

(e) Explain the critics on Recardian Theory of Rent. 4

(f) State the characteristics of Capital. 4

(g) State the affecting factors on real wages. 4

(h) State the factors of gross interest. 4
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AW–284
B.A. Part–I (Semester–I) Examination

(Optional Subjects)
ECONOMICS

(Micro-Economics)
Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½
lwpuk :— (1) loZ iz’ukauk leku xq.k vkgsr-

(2) vko’;d rsFks vkÑrh dk<k-

1. izk- jkWchUl ;kaph vFkZ’kkL=kph O;k[;k lkaxqu R;k O;k[;sph oSf’k"Vîs o fVdk lkaxk- 16

fdaok
lq{e vFkZ’kkL= Eg.kts dk; \ lq{e vFkZ’kkL=kps xq.k o nks"k lkaxk- 16

2. y?kwÙkjs nîk %—

¼v½ ekx.khP;k fu;ekph x‘ghrs lkaxk- 4

¼c½ iqjoBîkpk fu;e FkksMD;kr lkaxk- 4

¼d½ ekx.khP;k fdaertU; yofpdrsps izdkj lkaxk- 4

¼M½ ?kVR;k flekar mi;ksxhrk fu;ekph x‘ghrs lkaxk- 4

fdaok
¼b½ xhQsupk fojks/kkHkkl Li"V djk- 4

¼Q½ ekx.khpk yofpdrsph ladYiuk lkxk- 4

¼x½ ?kVR;k flekar mi;ksxhrspk fu;e FkskMD;kr Li"V djk- 4

¼g½ ekx.khP;k fu;ekps viokn lkaxk- 4

3. izkIrh Eg.kts dk; gs lkaxqu izkIrhps fofo/k izdkj Li"V djk- 16

fdaok
egkeku mRiknukP;k varxZr o cká cprh lfoLrj Li"V djk- 16

4. ;ksX; i;kZ; lqpok %—

(1) iw.kZ Li/ksZP;k cktkjkr Øsrk o foØsR;kph la[;k vlrs-

¼v½ ,d ¼c½ nksu

¼d½ vla[; ¼M½ ;kiSdh ukgh

(2) dks.kR;k cktkjisBsr foØsR;kps fderhoj iw.kZ fu;a=.k vlrs \

¼v½ iq.kZ Li/kkZ ¼c½ ,dkf/kdkj

¼d½ ,dkf/kdkj ;qDr Li/kkZ ¼M½ };kf/kdkj

(3) ;k cktkjisBsr is<îkauk eqDr izso’k o eqDr xeu ’kD; vlrs %

¼v½ iq.kZ Li/kkZ ¼c½ vYikf/kdkj

¼d½ ,dkf/kdkj ¼M½ ;kiSdh ukgh
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(4) iq.kZ Li/ksZr fn?kZdkGke/;s loZ is<îkauk feGrks %

¼v½ izlkekU; uQk ¼c½ vfrjhDr uQk

¼d½ rksVk ¼M½ ;kiSdh ukgh

(5) oLrq foHkhUurk ;k cktkjisBsps oSf’k"Vî vkgs %

¼v½ iq.kZ Li/kkZ ¼c½ ,dkf/kdkj

¼d½ viq.kZ Li/kkZ ¼M½ ;kiSdh ukgh

(6) vYikf/kdkjkr is<îkaph la[;k vlrs %

¼v½ deh ¼c½ ,d

¼d½ nksu ¼M½ vla[;

(7) ,dkf/kdkjkr is<îkaph la[;k vlrs %

¼v½ ,d ¼c½ nksu

¼d½ tkLr ¼M½ vYi

(8) ;k cktkjisBsr eqY;Hksnu ’kD; vlrs %

¼v½ iq.kZ Li/kkZ ¼c½ ,dkf/kdkj

¼d½ viq.kZ Li/kkZ ¼M½ ;kiSdh ukgh 16

5. y?kwÙkjs nîk %—

¼v½ Jekph oSf’k"Vîs lkaxk- 4

¼c½ fjdkMksZP;k [kaM fl)karkph x‘ghrs lkaxk- 4

¼d½ jks[k etqjh o okLrfod etqjh ;krhy Qjd lkaxk- 4

¼M½ Hkwehph oSf’k"Vîs fygk- 4

fdaok
¼b½ fjdkMksZP;k [kaM fl)karkojhy vk{ksi lkaxk- 4

¼Q½ HkkaMoykph oSf’k"Bs lkaxk- 4

¼x½ okLrfod etwjhoj izHkko Vkd.kkjs ?kVd lkaxk- 4

¼g½ feJ O;ktkps ?kVd lkaxk- 4
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AW–284
B.A. Part–I (Semester–I) Examination

(Optional Subjects)
ECONOMICS

(Micro-Economics)
Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½
lwpuk :— (1) lHkh iz’uksa ds vad leku gSaA

(2) vko’;drk vuqlkj js[kkfp= nhft;sA

1. izk- jkWchUl dh vFkZ’kkL= dh ifjHkk"kk crykdj bl ifjHkk"kk dh fo’ks"krk,a ,oa vkykspuk,a Li"V dhft;sA
16

vFkok
lw{e vFkZ’kkL= dh ladYiuk crkb;sA lw{e vFkZ’kkL= ds xq.k ,oa nks"k Li"V dhft;sA 16

2. la{ksi esa mÙkj fyf[k;s %—

¼v½ ekax ds fu;e dh ekU;rk,a crykb;sA 4

¼c½ iwfrZ dk fu;e la{ksi esa crykb;sA 4

¼d½ ekax ds dher yksp ds izdkj crykb;sA 4

¼M½ Ðkleku lhekar mi;ksfxrk fu;e dh ekU;rk,a crykb;sA 4

vFkok
¼b½ fxQsu dk fojks/kkHkkl Li"V dhft;sA 4

¼Q½ ekax dh yksp ladYiuk Li"V dhft;sA 4

¼x½ Ðkleku mi;ksfxrk fu;e la{ksi esa Li"V dhft;sA 4

¼g½ ekax fu;e ds viokn crykb;sA 4

3. izkIrh dk vFkZ crykdj izkIrh ds fofo/k izdkj Li"V dhft;sA 16

vFkok
egkeku mRiknu ds varxZr ,oe~ cká cpr foLrkj ls Li"V dhft;sA 16

4. mfpr i;kZ; pqfu;s %—

(1) iw.kZ izfr;ksfxrk esa cktkj esa Øsrk vkSj foØsrkvksa dh la[;k jgrh gS %

¼v½ ,d ¼c½ nks

¼d½ vla[; ¼M½ buesa ls ugha

(2) fdl cktkj esa foØsrk dk dher ij iw.kZ fu;a=.k jgrk gS \

¼v½ iw.kZ izfr;ksfxrk ¼c½ ,dkf/kdkj

¼d½ ,dkf/kdkj ;qDr Li/kkZ ¼M½ };kf/kdkj

(3) bl cktkj esa mRiknu laLFkk eqDr izos’k vkSj eqDr xeu dj ldrs gSa %

¼v½ iw.kZ izfr;ksfxrk ¼c½ vYikf/kdkj

¼d½ ,dkf/kdkj ¼M½ buesa ls ugha
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(4) iw.kZ izfr;ksfxrk esa nh?kZdky esa lHkh mRiknu laLFkkvksa dks feyrk gS %

¼v½ izlkekU; ykHk ¼c½ vfrfjDr ykHk

¼d½ gkfu ¼M½ buesa ls ugha

(5) oLrw esa fofo/krk bl cktkj dh fo’ks"krk,a gSa %

¼v½ iw.kZ izfr;ksfxrk ¼c½ ,dkf/kdkj

¼d½ viw.kZ izfr;ksfxrk ¼M½ buesa ls ugha

(6) vYikf/kdkj esa QeZ dh la[;k gksrh gS %

¼v½ de ¼c½ ,d

¼d½ nks ¼M½ vla[;

(7) ,dkf/kdkj esa QeZ dh la[;k gksrh gS %

¼v½ ,d ¼c½ nks

¼d½ T;knk ¼M½ de

(8) bl cktkj esa ewY;Hksnu gks ldrk gS %

¼v½ iw.kZ izfr;ksfxrk ¼c½ ,dkf/kdkj

¼d½ viw.kZ izfr;ksfxrk ¼M½ buesa ls ugha 16

5. la{ksi esa fyf[k;s %—

¼v½ Je dh fo’ks"krk,a crykb;s 4

¼c½ fjdkMksZ ds yxku fl)kar dh ekU;rk,a crykb;sA 4

¼d½ jks[k etnwjh vkSj okLrfod etnwjh buesa Hksn crykb;sA 4

¼M½ Hkwfe dh fo’ks"krk,a crykb;sA 4

vFkok
¼b½ fjdkMksZ ds yxku fl)kar dh vkykspuk,a crykb;sA 4

¼Q½ iwath dh fo’ks"krk,a crykb;sA 4

¼x½ okLrfod etnwjh ij izHkko Mkyusokys ?kVd crykb;sA 4

¼g½ feJ C;kt ds ?kVd crykb;sA 4
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